MATHS

BOOKS - RD SHARMA MATHS
(ENGLISH)

MENSURATION-2

1. Find the circumference of a circle of radius

14 cm.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_G81YP0uPA5m7

° Watch Video Solution

2. Find the circumference of a circle whose

diameter is 42 cm.

o Watch Video Solution

3. Find the diameter of a circle whose

circumference is 15.7 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_G81YP0uPA5m7
https://dl.doubtnut.com/l/_VaWddVEc9ZJ4
https://dl.doubtnut.com/l/_maW0awWjK42J
https://dl.doubtnut.com/l/_Lm79KXVYFxJm

4. The ratio of the radii of two circles is 2: 5.

What is the ratio of their circumference?

o Watch Video Solution

5. A piece of wire in the form of a rectangle 8.9
cm long and 54 cm broad is reshaped and
bent into the form of a circle. Find the radius

of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_Lm79KXVYFxJm
https://dl.doubtnut.com/l/_tP82ULdFo1ab
https://dl.doubtnut.com/l/_M41AQR56RHWJ

6. The diameter of a wheel of a cycle is 70 cm.
It moves slowly along a road. How far will it go

in 24 complete revolutions?

° Watch Video Solution

7. The diameter of the wheel of a car is 77 cm.

How many revolutions will it make to travel 121

km?

° Watch Video Solution



https://dl.doubtnut.com/l/_M41AQR56RHWJ
https://dl.doubtnut.com/l/_IaaAtER19gJr

8. There is a circular pond and foot-path runs
along its boundary. A man walks around it,
exactly once, keeping close to the edge. If his
step is 66 cm long and he takes exactly 400
steps to go around the pond, what is the

diameter of the pond?

o Watch Video Solution

9. The circumference of a circle exceeds the

diameter by 30 cm. Find the radius of the


https://dl.doubtnut.com/l/_LHmoZgsjFUfr
https://dl.doubtnut.com/l/_uKb8iWO6DLAn

circle.

o Watch Video Solution

10. A race track is in the form of a ring whose
inner circumference is 352 m, and the outer
circumference is 396 m. Find the width of the

track.

° Watch Video Solution



https://dl.doubtnut.com/l/_uKb8iWO6DLAn
https://dl.doubtnut.com/l/_PirD5cuuZljK

11. The inner circumference if a circular track is
220m. The track is 7m wide everywhere.
Calculate the cost of putting up a fence along

the outer circle at the rate of Rs. 2 per metre.
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° Watch Video Solution

12. Find the circumference of a circle whose

radius is a)14 cm (b) 10 m (c)4 km

o Watch Video Solution



https://dl.doubtnut.com/l/_BkbXwwgcqm0N
https://dl.doubtnut.com/l/_mRWPTUQgDIC8

13. Find the circumference of a circle whose

diameteris (a)7 cm (b) 4.2 cm (c)11.2 km

° Watch Video Solution

14. Find the radius of a circle whose
circumference is (a)52.8 cm (b) 42 cm (c)6.6

km

° Watch Video Solution



https://dl.doubtnut.com/l/_mRWPTUQgDIC8
https://dl.doubtnut.com/l/_MIGPGbdoaqtD
https://dl.doubtnut.com/l/_RWqkK3mFn2XW
https://dl.doubtnut.com/l/_1xYjWNZxyvuv

15. Find the diameter of a circle whose
circumference is (a)12.56 cm  (b) 88 m (c)11.0

km

° Watch Video Solution

16. The ratio of the radii of two circles is 3: 2.

What is the ratio of their circumferences?

o Watch Video Solution



https://dl.doubtnut.com/l/_1xYjWNZxyvuv
https://dl.doubtnut.com/l/_moMOHUpYYBMA

17. A wire in the form of a rectangle 18.7 cm
long and 14.3 cm wide is reshaped and bent
into the form of a circle. Find the radius of the

circle so formed.

o Watch Video Solution

18. A piece of wire is bent in the shape of an
equilateral triangle of each side 6.6 cm. It is re-
bent to form a circular ring. What is the

diameter of the ring?

| & I


https://dl.doubtnut.com/l/_KNU56ghcURtk
https://dl.doubtnut.com/l/_YWMEN3eGpTPQ

| ¥ Watch Video Solution |

19. The diameter of a wheel of a car is 63 cm.
Find the distance travelled by the car during

the period, the wheel makes 1000 revolutions.

o Watch Video Solution

20. The diameter of a wheel of a car is 98 cm.
How many revolutions will it make to travel

6160 metres.

o Watch Video Solution



https://dl.doubtnut.com/l/_YWMEN3eGpTPQ
https://dl.doubtnut.com/l/_EsUqxbFRmk2T
https://dl.doubtnut.com/l/_jG8vIXIgOxXB

21. The moon is about 384400 km from the
earth and its path around the earth is nearly
circular. Find the circumference of the path

described by the moon in lunar month.

o Watch Video Solution

22. How long will John take to make a round of
a circular field of radius 21 m cycling at the

speed of 8 km/hr?

| = 1


https://dl.doubtnut.com/l/_jG8vIXIgOxXB
https://dl.doubtnut.com/l/_kw4C2JBvuIMI
https://dl.doubtnut.com/l/_hiLmTMSxjWIP

I &9 Watch Video Solution I

23. The hour and minute hands of a clock are 4
cm and 6 cm long respectively. Find the sum of

the distances travelled by their tips in 2 days.

° Watch Video Solution

24. A rhombus has the same perimeter as the
circumference of a circle. If the side of the

rhombus is 2.2 m. find the radius of the circle.

l o Watch Video Solution


https://dl.doubtnut.com/l/_hiLmTMSxjWIP
https://dl.doubtnut.com/l/_NxDf4zRhiZ6X
https://dl.doubtnut.com/l/_D4jOXP8ULE2W

25. A wire is looped in the form of a circle of
radius 28 cm. It is re-bent into a square form.
Determine the length of the side of the

square.

o Watch Video Solution

26. A bicycle wheel makes 5000 revolutions in

moving 11 km. Find the diameter of the wheel.

° Watch Video Solution



https://dl.doubtnut.com/l/_D4jOXP8ULE2W
https://dl.doubtnut.com/l/_Yh4FzhLNVDxG
https://dl.doubtnut.com/l/_4iadNP9p8lDq

27. A boy is cycling such that the wheels of the
cycle are making 140 revolutions per minute. If
the diameter of the wheel is 60 cm, calculate
the speed per hour with which the boy is

cycling.

o Watch Video Solution

28. The diameter of the driving wheel of a bus

is 140 cm. How many revolutions per minute


https://dl.doubtnut.com/l/_4iadNP9p8lDq
https://dl.doubtnut.com/l/_0uYt8ybDvnC1
https://dl.doubtnut.com/l/_a4DBmiDzdj6J

must the wheel make in order to keep a speed

of 66 km per hour?

° Watch Video Solution

29. A water sprinkler in a lawn sprays water as
far as 7 m in all directions. Find the length of

the outer edge of wet grass.

° Watch Video Solution



https://dl.doubtnut.com/l/_a4DBmiDzdj6J
https://dl.doubtnut.com/l/_C10JpzmUjH6A

30. A well of diameter 150 cm has a stone
parapet around it. If the length of the outer
edge of the parapet is 660 cm, then find the

width of the parapet.

o Watch Video Solution

3. An ox in a kolhu (an oil processing
apparatus) is tethered to a rope 3 m long. How

much distance does it cover in 14 rounds?

o Watch Video Solution



https://dl.doubtnut.com/l/_9TzKw0AY1WKd
https://dl.doubtnut.com/l/_Ip1oIwPYRcyf

32. Find the area of a circle of radius 4.2 cm

o Watch Video Solution

33. Find the area of a circle of diameter 7 cm.

o Watch Video Solution

34. The circumference of a circle is 44 cm. Find

its area.

| & I


https://dl.doubtnut.com/l/_Ip1oIwPYRcyf
https://dl.doubtnut.com/l/_0hPX7b5MiwQs
https://dl.doubtnut.com/l/_fhNdMnIhtpbR
https://dl.doubtnut.com/l/_E7xvkFswVJ8V

| ¥ Watch Video Solution |

35. The area of a circle is 616 ¢m?. Find the

radius of the circle.

° Watch Video Solution

36. A copper wire, when bent in the form of a
square, encloses an area of 484 cm?. If the

same wire is bent in the form of a circle, find

22
the area enclosed by it. (Use m = 7)

I ° Watch Video Solution ‘


https://dl.doubtnut.com/l/_E7xvkFswVJ8V
https://dl.doubtnut.com/l/_ao3jwlDFH7or
https://dl.doubtnut.com/l/_OHPxxXbnJ2Kp

37. A circular grassy plot of land, 42 m in
diameter, has a path 3.5 m wide running round
it on the outside. Find the cost of gravelling

the path at Rs 4 per square metre.

° Watch Video Solution

38. A paper is in the form of a rectangle
ABCD in which AB=20cm and

BC' = 14 ecm- A semicircular portion with BC


https://dl.doubtnut.com/l/_OHPxxXbnJ2Kp
https://dl.doubtnut.com/l/_0C0znKkmXopR
https://dl.doubtnut.com/l/_MYTb5lIYXx6R

as diameter is cut off. Find the area of the

remaining part.

° Watch Video Solution

39. Find the area of the shaded region given in

Fig.12.72, where ABCD is a square of side 14cm.

o Watch Video Solution

40. The circumferences of two circles are in

the ratio 2: 3. Find the ratio of their areas.


https://dl.doubtnut.com/l/_MYTb5lIYXx6R
https://dl.doubtnut.com/l/_O7Tql5tJwVrl
https://dl.doubtnut.com/l/_Qck0ZzEnSk1T

° Watch Video Solution

41. The areas of two circles are in the ratio

16: 25. Find the ratio of their circumferences.

o Watch Video Solution

42. A square park has each side of 100 m. At
each corner of the park, there is a flower bed

in the form of a quadrant of radius 14 m as

shown in Fig. 1537. Find the area of the


https://dl.doubtnut.com/l/_Qck0ZzEnSk1T
https://dl.doubtnut.com/l/_VcaJbRAIEF2u
https://dl.doubtnut.com/l/_S049KyyIw9WV

remaining part of the park (Use m = 22/7) .

(FIGURE)

° Watch Video Solution

43, Four equal circles are described about the
four corners of a square so that each touches
two of the others as shown in Fig. 15.38. Find
the area of the shaded region, each side of the

square measuring 14 cm. (FIGURE)

° Watch Video Solution



https://dl.doubtnut.com/l/_S049KyyIw9WV
https://dl.doubtnut.com/l/_n6XGl9me5O7z
https://dl.doubtnut.com/l/_5buIjty1BYQd

44, A horse is placed for grazing inside a
rectangular field 70 m by 52 m and is tethered
to one corner by a rope 21 m long. On how

much area can it graze?

o Watch Video Solution

45. PQRS is a diameter of a circle of radius 6
cm. The lengths PQ, QR and RS are equal.
Semi-circles are drawn on PQ and QS as
diameters as shown in Figl7. Find the

perimeter of the shaded region.


https://dl.doubtnut.com/l/_5buIjty1BYQd
https://dl.doubtnut.com/l/_SbsUJdoGw1go

° Watch Video Solution

46. Find the area of a circle whose radius is

(a)7cm (b) 21 m (c)7 km

o Watch Video Solution

47. Find the area of a circle whose diameter is

(a)84 cm (b) 5.6 m (c)7 km

° Watch Video Solution



https://dl.doubtnut.com/l/_SbsUJdoGw1go
https://dl.doubtnut.com/l/_1PDa1IZrNfas
https://dl.doubtnut.com/l/_UblVkgsDqVaJ
https://dl.doubtnut.com/l/_5BRE66WKzXAV

48. The area of a circle is 154 em?. Find the

radius of the circle.

o Watch Video Solution

49, Find the radius of a circle, if its area is (a)

4 1 em? (b) 55. 44 m? (c)1. 54 km?

° Watch Video Solution



https://dl.doubtnut.com/l/_5BRE66WKzXAV
https://dl.doubtnut.com/l/_EdGFtwFzFPio

50. The circumference of a circle is 3.14 m, find

its area.

o Watch Video Solution

51. If the area of a circle is 50. 24 m? , find its

circumference.

o Watch Video Solution



https://dl.doubtnut.com/l/_sXqhMg9BRyMl
https://dl.doubtnut.com/l/_lPxYIJ35Q27R

52. A horse is tied to a pole with 28 m long

string. Find the area where the horse can

22
graze. (Takewr = = )

° Watch Video Solution

53. A steel wire when bent in the form of a
square encloses an area of 121cm? . If the
same wire is bent in the form of a circle, find

the area of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YkGAroYDU4gr
https://dl.doubtnut.com/l/_n6aw0J9K5qnP

54. A road which is 7 m wide surrounds a
circular park whose circumference is 352 m.

Find the area of road.

o Watch Video Solution

55. Prove that the area of a circular path of
uniform width h surrounding a circular region

of radius r is wh(2r + h) .

o Watch Video Solution



https://dl.doubtnut.com/l/_n6aw0J9K5qnP
https://dl.doubtnut.com/l/_Vl4Qe5a75zKt
https://dl.doubtnut.com/l/_Da1uL9LfmmEb

56. The perimeter of a circle isdwr cm- What is

the area of the circle?

° Watch Video Solution

57. A wire of 5024 m length is in the form of a
square. It is cut and made a circle. Find the
ratio of the area of the square to that of the

circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_j9xPTMRckxJ0
https://dl.doubtnut.com/l/_HxWgphFXbGdH
https://dl.doubtnut.com/l/_JF4LvpoAFyHD

58. The radius of a circle is 14 cm. Find the
radius of the circle whose area is double of the

area of the circle.

o Watch Video Solution

59. The radius of one circular field is 20 m and
that of another is 48 m. Find the radius of the
third circular field whose area is equal to the

sum of the areas of two fields.

° Watch Video Solution



https://dl.doubtnut.com/l/_JF4LvpoAFyHD
https://dl.doubtnut.com/l/_If5RuLxXVQCF

60. The radius of one circular field is 5 m and

that of the other is 13 m. Find the radius of the

circular field whose area is the difference of

the areas of first and second field.

o Watch Video Solution

61. Two circles are drawn inside a big circle

with diametersgrd and grd of the diameter

of the big circle as shown in Fig.18. Find the


https://dl.doubtnut.com/l/_bqKhbTMAbTk7
https://dl.doubtnut.com/l/_h61lPrF7bMmq

area of the shaded portion, if the length of the

diameter of the circle is 18 cm.

° Watch Video Solution

62. In Fig. 19, the radius of quarter circular plot
taken is 2 m and radius of the flower bed is 2

m. Find the area of the remaining field.

° Watch Video Solution



https://dl.doubtnut.com/l/_h61lPrF7bMmq
https://dl.doubtnut.com/l/_wTbAn93NSSdj

63. Four equal circles, each of radius 5cm,
touch each other as shown in Figure. Find the

area included between them.

o Watch Video Solution

64. The area of circle is 100 times the area of

another circle. What is the ratio of their

circumferences?

o Watch Video Solution



https://dl.doubtnut.com/l/_2jOiuzMdmyfc
https://dl.doubtnut.com/l/_WHzEsBDzIM25
https://dl.doubtnut.com/l/_N3v9fwQgYJPS

65. The ratio of the perimeter (circumference)
and diameter of a circle is

(a)m

(b) 2

(0

“

d7r
(d) 7

o Watch Video Solution

66. The ratio of the area and circumference of
a circle of diameter d is

(a)d


https://dl.doubtnut.com/l/_N3v9fwQgYJPS
https://dl.doubtnut.com/l/_gupomnX7F4bL

d
(b) 5

(C)%
2

(d)2d

o Watch Video Solution

67. The cost of fencing a circular garden of
radius 21 m at Rs 10 per metre is

(a)Rs 1320

(b) Rs 132

(c)Rs 1200

(d) Rs 660

| = 1


https://dl.doubtnut.com/l/_gupomnX7F4bL
https://dl.doubtnut.com/l/_5rzauK8Z7660

I &9 Watch Video Solution I

68. If the diameter of a circle is equal to the

diagonal of a square, then the ratio of their

areasis (a)7:1(b)1:1(c)11:7(d) 22:7

AT:1

B.1:1

C.11:7

D.22:7

Answer: 11:7



https://dl.doubtnut.com/l/_5rzauK8Z7660
https://dl.doubtnut.com/l/_R4Fobg5JkBd2

o Watch Video Solution

69. A circle is inscribed in a square of side 14
m. The ratio of the area of the circle and that

of the squareis (a)r:3(b) m: 4 (c)m:2(d) 7:1

o Watch Video Solution

70. How many times should a wheel of radius 7
m rotate to go around the perimeter of a

rectangular field of length 60 m and breadth


https://dl.doubtnut.com/l/_R4Fobg5JkBd2
https://dl.doubtnut.com/l/_5MJhNArBRnEd
https://dl.doubtnut.com/l/_No1r7XD6hbhB

50 m? (a)3 (b) 4

(c)5 (d) 6

° Watch Video Solution

71. The minute hand of a clock is 14 cm long.
How far does the tip of the minute hand move
in 60 minute? (a)22 cm (b) 44 cm (c)33 cm (d)

88 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_No1r7XD6hbhB
https://dl.doubtnut.com/l/_OxFsfcnWxSl5

72. The cost of fencing a semi-circular garden
of radius 14 m at Rs 10 per metre is

(a)Rs 1080

(b) Rs 1020

(c)Rs 700

(d) Rs 720

o Watch Video Solution

73.The area of a square is equal to the area of

a circle. The ratio between the side of the


https://dl.doubtnut.com/l/_960JTz4nxoke
https://dl.doubtnut.com/l/_biyp6e7zioHf

square and the radius of the circle is (a) ﬁ: 1

(b)1:y/m(c)l:mw(d)m:1

° Watch Video Solution

74.If A is the area and C is the circumference

of a circle, then its radius is

@2
¥C

(b) 24
C

3A

C
4A

C

(c)
(d)

o Watch Video Solution



https://dl.doubtnut.com/l/_biyp6e7zioHf
https://dl.doubtnut.com/l/_oe6NfHfnu2zN

75. The area of a circle of circumference C'is
02
O

2
(b) o

C2
T

2
s

(c)

o Watch Video Solution

76. The circumference of a circle is 44 cm. Its

area is


https://dl.doubtnut.com/l/_oe6NfHfnu2zN
https://dl.doubtnut.com/l/_CVFGWeY7F728
https://dl.doubtnut.com/l/_HrFDDefSlrVS

(a)77 em?
(b) 154 cm?
(c)208 cm?

(d) 144 em?

° Watch Video Solution

77. Each side of an equilateral triangle is equal

to the radius of a circle whose area is 154 cm?.

The area of the triangle is

7/3
4

49,/3

2

cm2

(a)

cm2

(b)


https://dl.doubtnut.com/l/_HrFDDefSlrVS
https://dl.doubtnut.com/l/_hRQhvvbF7oSG

49f o
7[ "

o Watch Video Solution

78. The area of a circle is 9w cecm? Its
circumference is

(a)6 cm

(b) 36T cm

()91 cm

(d) 3672 em

° Watch Video Solution



https://dl.doubtnut.com/l/_hRQhvvbF7oSG
https://dl.doubtnut.com/l/_yQx4fIBeSNIY

79. The area of a circle is increased by 22 c¢m?

when its radius is increased by 1 cm. The
original radius of the circle is (a)6 cm (b) 3 cm

(c)4 cm (d) 3.5 cm

° Watch Video Solution

80. The radii of two circles are in the ratio 2: 3.

The ratio of their areas is


https://dl.doubtnut.com/l/_yQx4fIBeSNIY
https://dl.doubtnut.com/l/_wnucMCKAATrN
https://dl.doubtnut.com/l/_uAeqv32S5nPG

(c) 3:2

(d) 9:4

° Watch Video Solution

81. The areas of two circles are in the ratio

49: 36. The ratio of their circumference is (a)

7:6(b)6:7(c)3:2(d) 2:3

AT7:6

B.6:7

C.3:2


https://dl.doubtnut.com/l/_uAeqv32S5nPG
https://dl.doubtnut.com/l/_3UCXVo5lruFa

D.2:3

Answer: null

o Watch Video Solution

82. The circumferences of two circles are in the
ratio 3: 4. The ratio of their areas is

(@)3:4

(b)4:3

(c)9:16

(d) 16:9

| |


https://dl.doubtnut.com/l/_3UCXVo5lruFa
https://dl.doubtnut.com/l/_8Wj6f4xazusN

& Wwatch Video Solution I

8. The difference between the circumference
and radius of a circle is 37 cm. The area of the
circle is
(a)111 cm?
(b) 148 cm?

(c)154 cm?

(d) 285 em?

° Watch Video Solution



https://dl.doubtnut.com/l/_8Wj6f4xazusN
https://dl.doubtnut.com/l/_oQQBK7sijYfZ

